HELMET HOLDER APPLICATION GSR250 (GJ55D)

CODE (BLACK)  564-2800100 (CHROME) 564-2800110

® Read and understand the instruction before installing.
—— u ATTENTIONS (MUST READ)

eHELMET HOLDER is designed and made to attach helmet on motorcycle when parking.
Do not use for other purposes.
It is not for anti-theft item. Do not modify the way which is not listed or it will cause damage and trouble.
® \We are not responsible for damages and accidents caused by assembling mistake and improper setting.
® Please have a mechanic assemble for setting.
Ask a specialist at specialty shop if you do not understand the role of the surrounding parts.
® Refer to the manufacturer HONDA service manual for each vehicle when installing
® Bolts and nuts may get loosen by engine vibration.
Please check and make sure each part of bolts and nuts are not loose before running.
® Please contact a mechanic nearby immediately when you find something unusual.

HOW TO INSTALL

PACKING LIST eTighten helmet holder and L-shape tandem step stay with bolts.
CODE NAME QTY ePlease check and make sure each part of bolts and nuts are not loose
before running.
503-0600010 |HELMET LOCK (T-2) BLACK 1 e memeeemeeeeaeaeeeaeeseaeaeaeaas .
503-0600110 |HELMET LOCK (T-2) CHROME 1 Try to put your hand in from shield side,
564-2800199 |STAY (T-2) 1 1 when attaching full face helmet.
080-0550030 |BUTTAN CAP BOLT M8 x 30 2
063-0511030 |COUNTERSUNK HEAD SCREW M6 x 30 1

OPTION PARTS (Sold separately)
880-9900000 |LOCK OIL 1

P

| ATTENTION

:ODepending on how to use, it may cause scratches. Do not use when running.

1*We do not make a duplicate of key. Please keep keys in safe place.

1*Use LOCK OIL (880-9900000) for maintenance. Do not use anti-dusting agent, or it causes key trouble.

3-8-13 NAGATA
HIGASHI-OSAKA,
OSAKA, 577-0015,

KITACO JAPAN

130808

AL Xy BRIV — BAERE : GSR250 (GJ55D)

%1 —K: 75 v 564-2800100 (0000W-05B60-18) # ¥ % 564-2800110 (0000W-05B60-19)

Q- DERLMUIESEVROELHICEVES CEVET, BN ER(ERL TELVBAET>TFEW,

—— B#E&Em. KEICOWVWT (BFBFEHTEWV)

QUM FIIETERF, HEICAIX Y MPBEBETEZIMBAINA Y FOY I TT, BHEFIEN—YTEITEVWELADTIERET SV, Fi.
ORI FERALEVTTEL,

Q_DN—YIEBFERICHF SN TVETOT, RRMNOEFICEIEETEI A, £/, HPAFICERSA TV EVENI®REL
B, Bl EHRERELAVTTEL,

@AM I XEFICL BNV, ZOMBBEN—Y OBEP ZhICHI BHEFCOVTRLTEGEFRADREL L, HHE—YOREE
BVEEADTITETE,

QAT TR, HBRFERVTEBHLIERDSZHHFToTTEV, £ AIBRORESEHIBETELVHRILTEFIEOELER
3, BHFTITEHT S,

QHEANT DI, DTEBEDA—H—Y—EXTZ a7 EHE TRIHMEEEEDHTT L,

@I T DIREICLY. FIVb, Fy MNEMBOTREMS H Y T, ETAELT. FWOKRIL A, Fv MNEOKTVESERIBELTTEL,

OHRMFEXDEP. BREERRALLIBGABESICETEFLEL, HHET, THEET SV,

Ba TS
OLAEZTFLRTF Y TATF—EHREHLTTEL,
OEFHCHDEHRFHEVHHERLTHLSEITLTTEL,
B ooz ERE. L REDS
EEANT I v o EEOEED O EDET

IWE PP

M-~ N=VY% fE%
503-0600010 |ANJLXy hEY Y (T2) TFvY
Xy ¥
564-2800199 | 2 5 — (GSR250) 1

503-0600110 |~JLX v ROy 7 (T-2)

080-0550030 |K&>F vy FHKILF M8 X 30 2 H

063-0511030 |ME X M6 x 30| 1 :
*7oanN—v (315%) H H

880-9900000 (O 7 #4JL 1 \ H
P s s s e T T P T T T T T T T T T T T T T T T T T T T TS T TS T 1
Oy IWMbB/VEDEER 1

(@A hO Y VERBEROBICZ > TFARTy TEHUARETIERTE V. £ LAy FOBEHEICE-,
| CREFHEEML, S XOBEEELYETOTIEBETEIV, ELETHOCHERBERHTEL,
1QLHTEHANTF—DIAXIRZINFITEIEEADTAYCRELTTF IV, (AXT7E—EHERLABAEE
| CEELAY., SHE—YVOEFEEZEVERBADOTITETEW) 1
1@y PEEMICEEL TOETIE. BHOBEHEECTIBRNGH2EK. ThEVWTTEWL, !
'@Xx—JULH—DALTF LRI, FFROF—S Y F—AACTFRRATL— (Ay 70l 2ZFEAEHhS !
EEBEHLET. BEEBAZFEALEVTTEY, ¥—HPEBL (MR TI L E3BAPHIET, !

1
L oo o o e e e e mm em mm mm mm e m em e em mm e e e e e e e e e mm e o m Em m mm m e e - a

BRROFEICONT
OHEICEFLEZHMLTVETH, F—LHHORELOFRRICLZZEFRRIHUE L
SEEEHK. AROHLORRESMYBEARE, BEEERLET, BL. ZhiH
SR, WE. BRECOVTON—YORE. BERIE. BEREAFORMIEIIETMK
TaW,
@ L R ORIHEISAREARS,S5 6 s ATY,

120918 Y-N T 577-0015

RABRTRHA 3-8-13
KITACO TEL.06-6783-5311 (f)
#hR=X=+t f="g1 FAX.06-6782-0740



Administrator
テキスト ボックス
HELMET HOLDER

Administrator
テキスト ボックス
APPLICATION   GSR250 (GJ55D)

Administrator
テキスト ボックス
    CODE

Administrator
テキスト ボックス
     (BLACK)      564-2800100

Administrator
テキスト ボックス
(CHROME)        564-2800110

Administrator
テキスト ボックス
● Read and understand the instruction before installing.



Administrator
テキスト ボックス
■ ATTENTIONS (MUST READ)

Administrator
テキスト ボックス
●HELMET HOLDER is designed and made to attach helmet on motorcycle when parking.
 Do not use for other purposes.
It is not for anti-theft item. Do not modify the way which is not listed or it will cause damage and trouble.
● We are not responsible for damages and accidents caused by assembling mistake and improper setting.
● Please have a mechanic assemble for setting.
Ask a specialist at specialty shop if you do not understand the role of the surrounding parts.  
● Refer to the manufacturer HONDA service manual for each vehicle when installing
● Bolts and nuts may get loosen by engine vibration. 
Please check and make sure each part of bolts and nuts are not loose before running. 
● Please contact a mechanic nearby immediately when you find something unusual.

Administrator
テキスト ボックス
HOW TO INSTALL

Administrator
テキスト ボックス
●Tighten helmet holder and L-shape tandem step stay with bolts.
●Please check and make sure each part of bolts and nuts are not loose before running. 

Administrator
テキスト ボックス
Try to put your hand in from shield side, 
when attaching full face helmet.

Administrator
テキスト ボックス

Administrator
テキスト ボックス

Administrator
テキスト ボックス
Open step when helmet is attached.



Administrator
テキスト ボックス

Administrator
テキスト ボックス

Administrator
テキスト ボックス
130808

Administrator
テキスト ボックス
3-8-13 NAGATA     
HIGASHI-OSAKA, 
OSAKA, 577-0015, JAPAN     

Administrator
テキスト ボックス
PACKING LIST

Administrator
テキスト ボックス
QTY

Administrator
テキスト ボックス
OPTION PARTS (Sold separately)		



Administrator
テキスト ボックス
   NAME

Administrator
テキスト ボックス
    CODE

Administrator
テキスト ボックス
   1

Administrator
テキスト ボックス
HELMET LOCK (T-2) BLACK

Administrator
テキスト ボックス
HELMET LOCK (T-2) CHROME

Administrator
テキスト ボックス
STAY (T-2)

Administrator
テキスト ボックス
BUTTAN CAP BOLT M8 x 30

Administrator
テキスト ボックス
COUNTERSUNK HEAD SCREW M6 x 30

Administrator
テキスト ボックス
BUTTAN CAP BOLT M8 x 30

Administrator
テキスト ボックス
LOCK OIL

Administrator
テキスト ボックス

Administrator
テキスト ボックス

Administrator
四角形

Administrator
テキスト ボックス
ATTENTION

Administrator
テキスト ボックス
●Depending on how to use, it may cause scratches.  Do not use when running.
●We do not make a duplicate of key.  Please keep keys in safe place.
●Use LOCK OIL (880-9900000) for maintenance.  Do not use anti-dusting agent, or it causes key trouble.


